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No. of Questions : 150
g9l At WEAT : 150

1
Time : 2 3 Hours Full Marks : 450

ww.—z-;- o2 qoTiE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted
questionn.

SAfaIfere 99 F1 Tl F T TAS FL TAE T 3 (T 3iF AR
T Td ITT 3 T Qe 31 FH12T I Y% TARa WA @
Bisie e |

(2} If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

g werifus defeus IW UL SW F e udid &, @ Faead 9dt 3w
3
(3} This paper comprises of three sections,

g TTH di GUE F B

3 P.T.O.
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01.

0z2.

03.

SECTION -1
wug -1
PHYSICS
(Marks - 150)

The dimensions of Plank's constant are eqguivalent to which of the
following ?

(1) Force (2) Energy

{3) Linear momentum {4} Angular momentum

e Fram® # e e o S 2

) W= (2) St

(3) Y@ Ham (4) FIUIG H&A

I two vectors 4 and g are such that ]A+E_3’=IA-—B' then the angle
between A and g is:

A afen § 7 5 WIFERFATR A+B[=|A-Bl 79 5 7O 5 HweA
IV 1 B

(1} @ (2) 60° (3) 90° (4} 180°

A person moves 30 m in north then 20 m in east and then 302 in
south-west direction. Its displacement from its initial position will
be:

(1) 15 m north~east (2) 10 m south

(3) 10 m west (4) 15 m south-west



05.
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T AfH 30 Mo S AR 20 Ho & a2 AT 30 2 Ho SfRT0--gfvem <wen
81 YRS I @ 39 fawmea faan g 2

(1) 15 o TR—94d (2) 10 o gfgm

(3) 10 o gfeem (4) 10 o Tfor—Tf=m

A block of mass 0.1kg is kept in contact with a wall by a force of S N
on horizontal direction if the coefficient of friction between the block
and the wall be 0.5 then the force of friction acting on the block will
be :

(1} 25N (2) 098N  (3) 49N (4) 0.49N
0.1 Pl SO0 & T TE& & T SR § 5 = 3 aifasl 99 g1 HeTH

@ T 21 afE e we der F S udn o 0.5 8, 99 ek W FE w5
A YT A T A T EW 2

(1) 253 (2) 0.98 A (3) 4.9 i (4) 0.49 A

A bucket filled with water is revolved in a circle of radius 4m in verti-
cal plane with such speed tnat the water does not fall down. The

maximum time period (in seconds) of one revolution will be :

U U gl el B SR 7 W 4 Ho g & g9 W 39 YST gurE S
2 5 ot R 7 e 21 e v a W fusan feam wma (@ee §)
T ?

(1) 4 (2) 3 3) 2 (4) 1

5 P.T.O.
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06.

07.

08.

Three particles of masses 4 kg, 6 kg and 8 kg are located respectively
at positions (0, 0), (5, 4) and (x, y) meters. Find the values of x and y
(in meters) such that the positions of the center of mass of this sys-

tem is located at point (2, 2) meters :

afE 4 fem, 6 form a9 8 T ToHUM & &0 B (0, 0), (5, 4) 9 (x, y)
et W foom €, A (x, y) T AA (HR ¥) Fargd T8 Sl @ 39 aawd
T Hg (2, 2) Hiew R feud 7

(1) (0.5.1.0) (2)(0.25,0.75) (3) (0.75,1.5) (4) (1.0,0.75)

The moment of inertia of a body about a given axis is 1.2 kgm? To
produce a rotational Kinetic energy of 1500 Joule from rest an angu-
lar acceleration o= 25 rad/sec? must be applied about that axis for a

duration (in sec) of :

{1) 2 sec (2) 4 sec (3) 8sec (4) 10 sec

forelt firoe =1 Stee ool fopelt aret & ofa: 1.2 franftoz 81 389 1500 &
ol et Fol I FA F 778 F0 T o = 25 ST/ H IW
R fFa GHa w6 TR0l B 2

(1) 29FTS (2) 4 J/FVE (3) B HFHVE (4) 10 HFUS

The change in the value of g at a height h from the surface of the
earth is the same as at a depth x below the surface of the earth (x and

h both being very small compared to the radius of the earth) then :



10.

11.

12U/115/23

7ol 76 Y h 398 W g F A ¥ 391 9 ofigds 9 2 o yedt F i
x TEIE W (x 941 h 2 gt A forow § sigd w9 &) 99

h
(1) x=h (2) x=2h (3) x=3 (4) x=h?
A satellite orbiting in circular orbit of radius R completes one revolu-

tion in 3 hrs. If orbital radius of geostationary satellite is 36,000 km,
the orbital radius R of the satellite (in kilometers) is :

T 398 e aeig arl &1 B R € U a9t oA o 3 5 1 WHY o

21 af feret o fowrd ST & 9ot unt 8 B 36,000 fFt A, @ TR F
g vy o fre R (fedt) o it

(1} 6000 (2) 12000 (3) 9000 {4) 18000

Escape velocity from a planet of mass M and radius R will be :

M TME 991 R Brew & 18 4 vergd 39 I8 o

2GM GM R R
M TR @ N @y @ g

The instantaneous displacement of a simple pendulum oscillator is

ps , .
given by x = A cos (wt + Z]. [ts speed will be maximum at time :

forl Cen Aiereh Qifer 1 AT TR x = A cos (we + ) ¥ o
21 3T ifean =i o wwa gl

2n n
1 == @

7 P.T.O.
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12.

13,

14.

The displacement equation of a particle is x =(6 cos wt + 8 Sin wt) m.
This equation represent a simple harmonic oscillation the amplitude

of which In meter is :

T T 1 AT x =(6 cos wt + 8 Sin wt) Hio {1 IT VI T TIE
aad <o oA Sal §, e A (o) §

(1) 15 (2) 20 (3) 10 4) s

Temperature of an ideal gas is increased from 120 K to 480 K. H the
root mean square velocity of the molecules of the gas at 120 Kis v
then its velocity at 480 K will be

T Y 19 H W9 120 K § 480 K W o fod s 81 4fE 120 K Wi
& U F P W G R v § A 480 K W THH T BN

RS y

(1 4v @ 2v G 5 O

When some weight is applied on a metallic wire of length L and

Young's modulus of elasticity v, its length is increased by . The po-
tential energy stored in the wirc per unit volume is :

HIq % UF 91 ) ovand L frga 0n warea o y 2 W, 1 9fs 1 @ I
I W FS R THA T T TR F Uhich o ¥ frat frufes wotf vl
g 2
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15.

16.

17.

120/115/23

A big drop is split up into 8 small drops. The excess pressure inside
small drop in comparison to that of big drop wall be :

(1) 4 times (2) %times (3)

T 7€ oE A 8 DA 42 T T §i B og % i i 79, 9 o
&l A B

times (4) 2 times

12| =~

i 1
(1) 47T (2 L TW 3) 5 T (4) 27T

Water is flowing in a tube of non uniform radius. The ratio of radii at
inlet and outlet ends of the tube i1s 3 : 2. Ratio of the velocities of

entering and outcoming water will be :

fereft aramr faea arelt 7ot & oIt 9% @ & Tl & wiawh g frard fad =
fowemadt 1 ou@ 3 : 2 21 Aol N WGP FA 9 W IR fwer a1 5 F
%‘ﬁﬁeﬂ“ﬂm@’ﬁ:

(1} 8:27 2) 4:9 3y 2:3 4 9:4

Recently superconductivity has been observed at 95 K. This tempera-

ture (s approximately equivalent to :

HR B § § sAfrarerma B T F1 Veq01 95 K R FEa T4 %1 A 41w Sman
Tﬂtla‘{%\:
(1} - 288°F (2) - 146°F  (3) - 368°F 4) +178°C

9 P.T.O.
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18.

19.

20.

If the distance between the atoms of a diatomic gas is supposed to be
constant then its molar specific heat is (R is gas constant) :

s T e F wompEd F G F g Hea o g2 T Aier fafin
= & (RIS feds )

3 5
SV 2 R @ 3R 4 R

In a given process of an ideal gas dW = 0 and d Q < O then for the gas:
(1) the temperature will increase

(2) the volume will increase

(3) the temperature will decrease

(4) the volume will decrease

A S E R M I dw=0 3R dQ <0 @ Ta F fad :
(1) M sm (2) 3TFAT SR
(3) T EIM (4) WRH T

An ideal gas at 27°C is compressed adiabatically untill its volume

8 5
becomes 27 of its previous volume. If ¥ =3 then the rise in tempera-

ture will be :

wF ey g fgE @ 27eC 2, varsy OfF @ o <o s @ f gme
Wmmwm% T 8 W, A :-'=§ g, @ a9 ¥ g
e

(1} 400°C (2) 375°C (3) 325°C (4] 425°C

10
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22,

23.
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Heat is flowing through two cylindrical rods of the same material. The
diameters of the rods are in the ratio 1 : 2 and their lengths are in
the ratio 2 : 1. If the temperature difference their ends is the same
then ratio of the amounts of heat conducted through them per unit

time will be :

@é'wﬁaﬁaﬁ@ﬁmf@mwmm@m%m@fm
IR 12 ¥ UG H ¢ 9 I o 2 ¢ 1 & U ¥ {1 afe i v
F fal W ANrER 99 € 99 YorEd S @1 W 99 o aed B
(1) 1:2 2) 2:1 3) 1:8 (4 1:4

A plano-convex lens is made of a material of refractive index n = 1.5.
The radius of curvature of the curved surface of the lens is 20 ¢cm. If
the plane surface is silvered then focal length of the silvered lens will
be :

TF 93961 o & 918 F1 JTEAHF n = 1.5 81 SHH T 1a I8 FI aghal
1 20 cm B1 AT T0F GHAA 9§ W A F HAE L G I T4 39 AG HY
m{ﬂ@‘ﬁ

{1} 10cm (2} 20cm (3) 40cm (4) 50 cm

An object is placed at a distance of 10cm from a convex lens of power

S D. Find the position of the image :

T I9d oF fFgat gma s D 2 I8 10 A [ wE Feg @ e 21 s
= fegfa @m Brf

(1) -20cm (2} 30cm {3) 20cm (4) -30cm

11 P.T.O.
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24,

25.

26.

Find the magnification at least distance of distinct vision for a micro-

scope having a convex lens of focal length 5 cm :

T GeRa & 399 o H wRd gt 5 Bt 21 wE Sy Y =am < & R
TEH G & fepat Bt ?

(1) 2 (2) 4 3) S (4) 6

When light enters the glass from air, which of the following state-
ment is true ?

(1) wavelength increases (2) wavelength decreases

(3) frequency increases (4) frequency decreases

T TS oY W HE W W A 2, A WY BA— HYT G ¢ ?

(1) e wed ® (2) o wed g
(3) oTqfa s ® (4) el e &
The coherent monochromatic light beams of intensity I and 4 | are

superimposed. The maximum and minimum possible intensities in

the resulting beams are :

(1) Slandl  (2) 9landl (3) S5land31 (4) 25land 9]

< FHEEE THAT Tenre o et e 4 1 9 1 ¥, ¥ sremive D
RO Y W wewH | AqH S §
(1) 5141 (2) 911 (3) 51431 (4) 251991

12



27.

28.
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Yellow light is used in a single slit diffractive experiment with slit
width of 0.6 mm. If yellow light is replaced by X-rays then the ob-
served pattern will reveal : |

(1) that the central maxima is narrower
(2) more number of fringes

(3) less number of fringes

(4) no diffraction pattern

wwa fiete faads s A, forall fiele #1 =iet 0.6 fafs 2, don s g
foran T %1 Aft G W W X- ROl @ Wed fea S, @ e wfas
Tgram

(1) = fem wa Q@ gl & o @

2) fri &t 9 g dem

(3) Fr &1 =t g2 e

(4) Toda sfeeq & T&F s

Two narrow cylindrical pipes A and B are of equal length. Pipe A is
open at both ends and pipe B is closed at one end and open at other
end. Pipes A and B are filled with different gases at same tempera-
ture. The frequency of second harmonic of pipe A is equal to the freq.
of third harmonic of pipe B. :f we now close the open end of pipe B
also then find the ratio of the fundamental frequencies of the two

pipes :

2 TR ATHFR A A 991 B H aga GuE T 9y A I W gen
% 9on Ty B TE AR W gell T R W A ] WY A A UEY B H -
e 1Y wEE g 9 s 2 WY A & {5y 9 F engfa uRY B % g
T i 3vgfa F SRR ¥ TRE B F g fRl B ff s H A IR A R
A gl a1 UgY B FH YA 3gHd 1 TII I A

Ba 3 LSS LLPSPES ay Ma3
(1) ly 35 2) 2 (3) “3_4 (4) n, 6

13 P.T.O.
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29.

30.

31.

A light wave is incident on a plate at an angle of incidence of 60°. If
reflected and refracted rays be at right angles to each other then the
refractive index of the substance of the plate 1s :

TS feH W NHW TOT 60° F HI W Afad 81 A wratda qo Aafdd
foFTol TR e 8, @ e & v w1 edAE ®
V3

2
| 3 @ @ 5 @ V2

A bus is moving with a velocity of S m/sec towards a huge wall. The
driver sounds a horn of frequency 165 H,. If the speed of sound in air
is 335 m/sec then number of beats heard per sec by the passenger

in the bus will be :

T T 5 Wo /A F I T UF gd ah QA A @R T W A 165 T
1 &4 s ®1 I Aty o g ¥ 9 335 fo/A A, A 99 W 93 9 H;
i ¥ fore forede g 3 -

(1} 4 2}y S (3) 6 : (4) 3

A charge q' is placed at the center of the line joining two equal charges

q. The system of three charges will be in equilibrium if q' is equal to :
QY UM AW q, B Sgq arell W F neafag W U 3w ! 1@ 7 ™
21 99 T W T8 fE bqed ¥ g, 3k o WA fra @

m @ -3 @) +5 @ +7

14



32.

33.

34.

12U/115/23

A hallow metallic sphere of radius 5 cm is charged such that the
potential on its surface becomes 10 volts. The potential at a distance

of 2 cm from the center of the sphere will be :

TF 5 I e % U % W) el Y 59 TR A fEm s @ 5 saa
e W fava 10 dce 21 T ¥ w5 ¥ 2 Uit < R fava g

(1) Ovw (2) 4v (3) o6v 4) 10v

1
What are the dimensions of 7€ E? ? Where symbols (e, &E} have

their usual meaning ?

1 o Y .

5 E2 %) fammd &1 § ? 981 W Wehdl (e, 991 E) T Aa0E 98t § S gHw
@ B

(1) ML 2) m'Lt?  (B) MUT? 4) Mt
Three capacitors of Capacitances 3 uF, 10 pF and 15 uF are con-

nected in series to a voltage source of 100 V. The charge on 15F
capacitor will be :

3 uF, 10 uF 991 15 uF & & G Sofispn ¥ 92,31 39 100 R F @&
forza & @ Sl SN #1 15pF F HORE W €Y g

(1) 2800uC  (2) 1500uC (3) 500uC (4) 200uC

15 ' P.T.O.
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35.

36.

37.

When a wire of resistance R and radius r is stretched such that its

. r e .
radius becomes 3 then its resistance will become :

R e o) r Freon 2, ardt o ) g st e i sw s - @ ol
2 0 ToE whRY 8 -
(1) 8R (2) 16R (3) 4R (4) 2R

A voltmeter of resistance 998 ohm is connected to a cell of emf 2 volt
and internal resistance 2 ohm. The error in the measurement of emf.
will be ;

998 M HfeRlY ol deeHiel 2 diee e[ awsd 9@ a9 2 A sl
sfag orel At | Srer s 21 faga aew S % Aed ¥ g el
(1) 4% (2) 2% (3) 0.4% (4) 0.2%

A proton moving with a constant velocity passes through a region of
space without any change in the velocity. If § and g represent the

electric and magnetic field respectively then indicate the false state-
ment about the field in this region of space :

% e Faa 3 A et o U U0 W B § S5 Ol § e 39 an
A B o TG v A § I 5 HEW: 9D I G &1 H vefila
aaEd o 7 3 @ R o %9 39 WE W [ a9 ey 85 % aR A
TE R ?

(1) E=0,B=0 (2) E=0B=z0 (3) E=%0,B=0 (4 E=0,B=0

16



38.

39.

10.

120/115/23

The work done in rotating a magnet of magnetic moment p; by 180°
kept in magnetic meridian in a uniform magnetic field of induction
g will be :

THGT T 99 5§ e A Ay g el & g
aﬁlsoogqﬁﬁ%mwmm;
(1) %MB 2) %MB (3) MB (4) 2MB

The magnetic flux through a coil at any moment tis ¢= (5t - 100 t +

500} Weber. The induced emf in the coil at time t = 2 sec is:

forelt T t TR U HUSCR W TS PRI IR g= (5t~ 100 t + 500)
o B t=2 Vo W Foall H fta fagm amws 9 =1 79+ 2

(1) -40V (2) +40V  (3) 140V (4) 360V

The number of turns in primary and secondary coils of an ideal trans-
former are 100 and 250 respectively. If the peak value of potential
applied across the primary coil be 28 volt then the rms value of po-
tential obtained between the ends of the secondary ceil will be ap-

proximately :

U eV T i Wi vd fgdtas puafed ¥ wEw 100 991 200 W
21 afe wafhs Foeeh & il & dm omifi faver &1 faet 7 28 V E,
Al it Fuee & fadl % = s fasarat &1 @ e 5e A e

(1) 50V (2) 70V (3) 100V (4) 40V

17 P.T.O.
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41.

42.

43‘

A hot body will radiate heat most rapidly if its surface is :

(1) white and polished (2) white and rough
(3) black and rough (4) black and polished
T& 7@ f4vs agad o0 ¥ T frewa war @ ot S g @
(1) ThE § IHHIR (2) T¥E d Gh

(3) el 9 gL (4) Al 9 THHIR

The electron in a hydrogen atom makes a transition n, - n, where n,
and n, are the principal quantum numbers of the two states. The
time period of the electron in the initial state is 8 times that in the
final state. Assuming the Bohr model to be valid select the correct
alternative from the possible values of n, and n, given below :

ﬂ@ﬁ?ﬁmﬁsﬁ'ﬁ'ﬁnla% ¥ WHAY HE T, SR n, AN 0, A
el &) qed saed geud € IR SEe § 3aaeH & g9 S
Jifm e ) gorn § 8 T 1 R WA FI A9 WAR n, A n, & 3

2 w3 9 A ¥ T fawew B 90 -
(1) n,=4,n,=1 2) n,=4,n,=2
3) n =8,n,=1 (4} n,=8,n,=2

As per Bohr model the minimum energy in (e V) required to remove
an electron from the ground state of doubly ionized Li atom will be -
(given that the ionization energy of hydrogen atom is 13.6 eV} :

MR e ¥ SATAR Fran sraed ¥ fer fgamaf Li w] ¥ A R
i ¥ ford aTavas <am T (e V) A w1 2l 2 & mn R R aregiem
%1 arafd 0 ® F9 13.66V 2

(1) 13.6 (2) 54.4 (3) 81.6 (4) 40.8

18
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45.

46.

47.

120/115/23

An X-ray tube is operated at 50 kV. The minimum wavelength of X-

Rays produced is :

T X- TR0 FFea &t 50 ffo diee W Somal ST & Scaned X- RO &
R[AqH qOTeed R

(1) 0.25A° (2) 0.5A° (3) 1A° (4) 2.5A°

The peak value of the A.C. voltage across the secondary of the trans-
former in a half wave rectifier with no filter circuit is ¢f2 volt. The

maximum dc voltage across the load will be about :

#g T Ry & e i fGdes & wia: yaEd (dle) fava w
e of; dive 21 SfauR W &K (Slodflo) fava w1 sifyaw om @ ?:
(1} 9V (2) 6V (3) 4V (4) 8V

The current gain for a transistor working as common base amplifier
is 0.96. If the emitter current is 7.2 mA the base current will be

about:

IS SaR Farg & T QiR & 91 A9 0.96 21 AR IE YR 7.2 ¢
fio YRR (ma) B, A SMER IR 61 TH AT 0

(1) 042mA (2) 048mA (3) 0.37mA (4} 0.29 mA

Which one of the following gate is known as inverter :

faddfreR RN =i Fw I e
(1) AND (2} NOT (3) NAND (4) NOR

19 P.T.O.
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48,

49.

50.

Ne?? nucleus after absorbing energy decays into 2¢ particles and an
unknown nucleus. The unknown nucleus is :

(1) Nitrogen (2) Carbon (3) Oxygen (4) Sodium
Ne?2 A ol a9 BT & o & o HUI 99 Th T4 THF H 99 &l
W B 3T E R

(1) e (2) HTEA (3) 3TFESH 4) wfeam

The function of moderator in any nuclear reactor is :

(1) to slow down the motion of neutrons upto thermal energy
(2) to cool down the reactor

(3) to conirol the energy emittet by the reactor

(4) to absorb the neutrons and stop the nuclear reaction

frdl gfemR TR i vas M R FE 2 7

(1) =R R 1R T e ada S as ar

(2) f&Ex & I F0

(3) e g s|fse =t & fafeg v

(4) EE Ht AENEE FAT q@ R fra F® A

The maximumn Kenetienerges of Photo electrons emitted from a sur-
face, when photons of energy 6.0 ¢V fall on it, is 4 V. The stopping
potential in volts is :

T 4 B HWaE W A 6.0 eV Foll & HeH frd & @ v soiagrl
Afvrpen s ol 4 ev T PRI fova diee ¥ R

{1) 6 (2} 4 (3 2 4) 1

20
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SECTION - I
qrg - II
CHEMISTRY
(Marks - 150)

51. The incorrect order for the strength of acid is :

52.

T Q@ FH W o F e F i e @ 2

(1)
(2)
(3)

(4)

CH,CICOOH > CH,COOH > CHCL,COOH > CCI,COOH

CH,CICOOH < CHCLCOCH < CCL,COOH

CH,COOH < CH,CICOOH < CHCL,COOH <CCLCOOH

CCL,COOH > CH,CICOOH > CH,CICOOH

Assertion, A: Gammaxene is used as a fertilizer.

Reasoning, R: DDT supplements gammaxene.

(1)
(2)
(3)

(4)

A as well as R is correct and R is the correct explanation of A.
A as well as R is correct but R is not the correct explanation of A.
A and R, both are false.

A is true but R 1s false.

21 P.T.O.
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S3.

Assertion, (J17)A: A @R # 9@ 1@ B 2
Reasoning, (@TUT )R: DDT § TN = SYGfm 9¢ & 81

(1}
(2)
(3)
4)

AR RN dF € 3l A & fU R I% srRW &)
AR RS &% € 3l A ¥ fauw R A5 w7 2
A 3R R @ TTera 21

ATE R feg REB B

Assertion, A: Amines are acidic in nature.

Reasoning, R: It is due to the presence of lone-pair of electrons on N.

(1)
(2)
(3)
(4)

A as well as R is correct and R is the correct explanation of A.
A as well as R is correct but R is not the correct explanatidn of A.
A is true but R is false.

A and R, both are false.

Assertion, (1T )A: 377 d&T B 31

Reasoning, (&RYT)R: N T UHH I IH &1 & &0 |

(1)
(2)
(3)
(4)

AR REF 9% € 3k A ¥ fau R = TR0 B
AR REA 9 € 3k A F fau R AT o & F

Ada 2 g RgS B
A 3 R S e 2

22
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54. Which of the following gives urotropine in its reaction with NH, ?

NH, % g ifafea W T8 ¥ I W g0 e ?
(1) HCHO | (2) CH,CHO

(3) CH,COCH, (4) HCHO and CH,CHO

55.Which of the following show the correct oxidation states of Mn ?

56.

(1) 4 in MnO, (2) 6 in K,MnO,

(3) 7 in KMnO, (4) All the above

i 2 g 4 A I @ st frafd) saen Mn & fag w@t 2 2
(1) MnO,¥ 4 2) K,MnO, § 6

{3) KMnO,H 7 (4) FR & qA

Which of the following is incorrect for g-,p-,or y-rays ?
(1) a-particle/ray is positively chargéd
(2} a-particle/ray is negatively charged
(3) p-particle/ray is negatively charged

(4} v-ray is uncharged

23 P.T.O.
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57.

58.

TARI WA IBA A o p Ty WH I AT © ?

(1)
(2)
(3)
(4)

o- UIifRer 357) qﬁ&a&ﬁ(ﬂ?—ﬁ?}?ﬁ) gt gl ©
a-wﬁfﬁm/iﬁﬁ?rﬁaaﬁmﬁm%
p-wiffeRel /9 Frifeaeh arie & @

Which of the following is incorrect ?

(1)
(2)
(3)
(4)

Glucose is a monosaccharide
Fructose is a monosaccharide
Starch is a polysaccharide while cellulose is a disaccharide

Cellulose is a polysaccharide

I G2 gu A | %9 9 e @ 2

(1)

T AR §

(2) HERE BAFUES §
(3) wWH uichdsmEe 2 i Ao SEdaEe &
(4) ol Yeftddgs @

Which is incorrect for a catalyst ?

(1)
(2)
(3)

(@)

It is used in small quantities
It provides an alternative path of lower activation energy
It alters the rate of a reaction

It lowers the energy of activation

24
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1207115723

aawéanﬁaﬁqmwaﬁ%?

(1)
(2)
(3)
(4)

Ig wgd FY HE N WA ]

I8 N IS 1 TS O T GRAT FI 8
7% T G 9 f A aee 3 |
A% IUNTA—THF i &I B FH H T

Assertion, A: AG decreases for a spontaneous reaction, AAB -

Reasoning, R: AG increases at equilibrium.

(1)
(2)
(3)
(4)

A as well as R is correct and R is the correct explanation of A.
A as well as R is correct but R is not the correct explanation of A.
A is true but R is false.

A and R, both are false.

Assertion, ﬁﬁ'{‘)A: AG 0 tfufsmar, sap & fod wed %i.

Reasoning, (&TUT)R: AG HqoH T Gl 2|

(1)
(2)
(3)
{4)

A 3ix R M 3t & 3k A ¥ faru R &I wRW 2
A 3R R 3 9 € o A ¥ fau R Sl FRU FE R

ATE e fEg RS B
A 3K R 2R o B

25 P.T.0O.
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60. pH value of 10-M aqueous solutin of KCl is ?

61.

62.

{2)

10*M KCl % Ot & st 1 pH i W 7 ?

(1) 11

3y 3

The isotopes of hydrogen are :

TRISA & RN TR
(1) Only/%ad H &/ 2H
(3) Only/%ae 2H &/3R 3H

(2)

(4)

(2)

(4)

7

Close to 3

3 % frae

Only/&&e 'H &/ *H

1H ?H &/3 3H

Van der Waals equation is [P + (a/V3)][V - b] = RT. Internal pressure is

(6E/ 8V),- Which of the following is incorrect for internal pressure ?

(1)

Zero for an ideal gas
Zero for a real gas
(3) a/v?for areal gas

(4)

a/v? vanishes at low pressure

26
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TS —ATA THIH [P + (a/VY)][V - b] = RT 81 3Miafiwh < (3E/9V), &
T ¥ F9 @ iakE T F 9fd Tea 2 2

(1) % ey | & fag o @ @
(2) arafas a ¥ fae S S @
(3) W'ﬂ'ﬂ%ma/v"aﬂ%

(4) FHTE W a/v? TES & S0 2

What is not true for transition metals ?
(1) Exhibit variable valencies

(2) Decompose water to give H,

{3) Have incomplete d-orbitals

(4} Give coloured ions

zﬁr&nm@%uﬁwwé?

(1) F¢ dA=h femn §

(2) arft % ST (SN E F M, W #
(3) d-eTaizd R R TE N T

(4) O s 2 ¥

27 P.T.O.
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64.

65.

Which is the incorrect maitch ?
7 @ W e O @ g ?
Compound/&HWTSE

(1)
(2)
(3)
(4)

SO

C,H, OH
P205
MgO

3

Behaviour/7[UT
Acidic/THIfgH
Basic/ fgs
Basic/ E\RET
Acidic/THife®

Assertion, A: ¢= hv is Planck's quantization relation.

Reasoning, R: p = h/ ) is de Broglie relation.

(1)
(2)
(3)
(4)

A as well as R is correct and R is the correct explanation of A.

A as well as R, both are correct.

A is true but R is false.

A and R, both are false.

Assertion, (SY )A: T I FaH0 a4, = hy 2

Reasoning, (@107 ) R: Sl—sFell &1 €8¢ p=h/) &
A 3R R F 9t € 3k A & fau R 1 #R0 2

(1)
(2)
(3)
(4)

A 3R R I w& 2
ATa 2 fFg RYS R
A 3R R 2 Treta B
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66. Atomic volume decreases from :
TR ST W €
(1) Fto/ W1 TR (2) Lito/ ¥ K &%
(3) Beto/ ¥ Ca T® (4) Lato/ § Lu T

67. For a 2p- electron, possible values of its three quantum numbers : n,

I, mare :

(1) n=2;1=0,1&2,m=0,+ 1& + 2
2) n=2;1= L, m=-1,0, +1

B n=2;1=2,m=-2,~1,0, +1, +2
4) n=31l=1,m=0, +1, + 28& +3

TF 2p TS & U9 @7 Fared T : n, I m TE §
() n=21=0,18R2,m=0,: 3 ;2

2 n=2;1=1,m=-1,0,+1

3) n=2;1=2,m=-2,-1,0,+1,+2

4 n=3;1=1;m=0, + 1, + 23+ 3

68. The incorrect electropositive character is shown by :

uﬂ—ﬁgﬁ}ama;maﬂ'—rmm%?
{1) Na > Mg (2) Be>L (3) K> Na 4) 1>Cl

29 P.T.O.
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69. Which of the following is incorrect for the order of a gaseous reac-

70.

tion, A > B?
(1] 1Itis a first order if — d[A])/ dt depends on [A]
(2) It is a second order if — d[A]/ dt depends on [A)?

(38} It is a first or second order if — d{A}/ dt depends on {B] or [B}?

respectively

(4) The order depends on - d[A]/ dt depending on [A]®

sfufFa A—> B sfufpa & o & fag o5 @ e € 2
(1) AT - d[A)/ dt, [A] T Frefe e @ o 9@ 1 ende 2
(2) AfE - d{A]/ dt, AP R SR @ e q 9- 11 et @

(3) afE - da]/ de, (B] T (B R sl a3 & @ I HAEGER | A1 11 R
?

(4) AR - d[A]/ dt, (A R PR @ & o ek n 2

Which of the following is incorrect ?
{1) DNA exists as double helix

(2) RNA exists as single chain

(3) Sugar unit in RNA is ribose

{4} RNA test is used in investigation

30
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72.

12U/115/23

N QI W e € ?

(1) DNA Bl Rfcad ¥ gar 2

(2) RNA 3% 39 ¥ & @

(3) RNA & = Tge ®

(4) RNA 2% =0 § #7107/l ©

Assertion, A: Methyl orange is an azo dye.

Reasoning, R: Azo dyes contain -N=N- as a chromophore.

(1) A as well as R is correct and R is the correct explanation of A.
(2) A aswell as R is correct but R is not the correct explanation of A.
(3) Ais true but R is false.

{4) A and R, both are false.

Assertion, (W7 )A: Ufd AT U= 2B 2B

Reasoning, R: (10T ) ¥ S1§ # -N=N- & HEIGR 41 € 2
(1) A 3R R 3% 2 iR A & g R 3 SR B
2) AR RIF i ¢ 3R A & fog R FF FRO T )

3) ATIRFgRES B

(4) A 3R RIA T B

Which of the following is correct ?

AR ST ?

(1) AG = AH"*+ TAS (2} AA = AU + TAS
{3) dH =TdS - PdV (4} dU=TdS + VdP

31 P.T.O.
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73.

74.

75.

Which of the following does not have H-bond ?

T 4 el geeeH—are W e ?

(1) HF (2) H,S (3) H,0 (4) lce/S%

Meniscus of CO, liquid disappears at its critical temperature as its
density becomes :

(1) Higher than its vapour density
(2) Lower than its vapour density
{3] Equal to its vapour density

(4) Independent of any temperature variations

Fifh AR W CO, Fa F AT Tas B T @ 6 SqH o
(1) 94 ¥ w9 § sifus & e @

(2) 99 % TG § FH 9 o 2

(3) AT F UTE ¥ HH @ e B

(4) TIT F Feend W R 9w @

Assertion, A: Outer electronic configuration of Ni (28) is 3d%4s? while
that of Cu (29) is 3d'%4s’ instead of 3d°® 452

Reasoning, R: Completely filled d—orbitals are more stable than that
of incomplete.

{1) A as well as R is correct and R is the correct explanation of A.
(2) Aaswellas R. is correct but R is not the correct explanation of A.
(3) A is true but R is false.

(4] A and R, both are false.
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Assertion, (FI¥ )A: Ni (28) &I 9180 TRI6—{9919 348452 % wE[®H Cu
(29) F 3d%s! F FT 3d'04s! B

Reasoning, (&7 ) R: R W d-%&7h Y0 R d-Herd &l Ja & (e
R B

(1)
(2)
(3)
(4)

A 3R R dF # aflt A & forw R Jfe FRW B
A 3R REF &l € 3 A & fou R i w0 E )

ATS R fFg REB B
A 3R R g 7o €

Which of the following is true for the properties of organic compounds?

(1)
(2)
(3)
(4)

They are mainly the properties of their functional groups
They depend on their structures
They depend on their geometr_’;f

They depend on their configuration

A I @ SO AT F W F Tk ER e 7

{1)
(2)
(3)
(4)

§ i o79Y fFToTE e (W T9) W Pl e 2
3 T TEE (RaFR) Wit X 2

3 o A W PR W

A o7 famrg W R S #

33 P.T.O.
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77.

78.

According to acid-base theories :

(1) An acid is a proton acceptor as per Bronsted-Lowry
(2) A base is a proton donor as per Bronsted-Lowry

{(3) An electron-pair acceptor is known as Lewis acid

(4) An electron-pair acceptor is known as a Lewis base

T tfge—du & el Fam N adt
(1) SRE—dl % ITER ufFs e Wiew g
(2) AT F N[O 99 TeH T ]
(@) THfR-Tfae & saa— g EiE
(4) ARE—IT T PRI S

Which of the following is true ?

(1) Half-life, Ty of a reaction depends on the initial concentration

of reactant, {A] in I'order
2y Ty (AP inlorder
(3} Ty® lA)? in II order

(4) Ty is independent of {A] in T order

34
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80.

12U0/115/23

TSI W Ed 2 ? | |
(1) wou Hife # atfuform ot sd—amg, 7y, AR, (A] F TRIGF M
W fad & 2

(2) 59| FHife H t)@ (A2
(3) fadtar ife 7 7,0 (AP
(4) e @z Ty, [A] R PR T e

Which is incorrect for hybridization in the following ?
(1} Tetrahedral [NiCl ] has sp®

(2) Planar [Ni(CO),] has dsp?

(3) Octahedral [Fe(CN)]* has sp*d?

(4) Octahedral [Fe(CN),]* has d?sp®

S T GE F i e ¢ 2

(1) RTHA [NiCO,[? F o sp?

(2) R [Ni(CO),] & AT dsp?

(3) SRRIH [Fe(CN)J- & fAT spid?

(4) SETEEA (Fe(CN),[*- & fAT d2sp?

Which of the following is correct for [Fe(CN) | {Hint: Fe® is 3d%} ?
(1) Itis paramagnetic {2) It is diamagnetic

(3) 1Itis ferromagnetic (4) Itis antimagnetic

35 P.T.O.
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81.

82,

7 @ HF W [Fe(CN), ] F 3 W& & FIR: Fe>* @ 3d% 2
(1) 9% WEAREE © (2) TE S ©
(3) @ Hiifew © (4) Te wRHfeE ©

Which of the following is incorrect ?

(1) AG = aAA for isothermal change in an ideal gas

(2) AG = nFE

(3) PVY is constant in adiabatic process for an ideal gas

(4) PV is constant in isothermal process for an ideal gas

Y F HH G T ® 2

(1) TF 3ee 1y & gt 69 & AG = aa

(2} AG =nFE

(3) UF ared o A pvy (egries vy ¥ U wuE B 2
(4) UF aney W H Py WO W0 ¥ UE GAE B @

Which one of the following is correctly named in the light of [TUPAC
nomenclature system ?

IUPAC TR § A9 f&3 gu diffres & 8 & *F o 9 | ?

(1) CH,-CH, - CH,-CH, CI I~chlorobutane / 1-FIUSE
(2) H,C=CH, Ethene /34

3} H-C=C-H Ethyne/ 39

(4) All the above FW & gl
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83. Which of the following is true for the effect of pressure on gaseous

84,

reactions ?

¥ # Al W F T A sH @ yfaa gar € 7

Gaseous reactions/ T AfufH Favoured by/ e §

(1)
{2
(3)
(4)

PCi, + Cl, -» PCI, low pressure/&H @ T

2NH, = N, + 3H, high pressure /3% 2d W
N, + 3H, = 2NH, - low pressuréjm g |/

N, + O, = 2NO independent of pressure varia

tions/ WIfag AR Qe g2

Which of the following is incorrect ?

(1)

(2)

T Y B W e 2
R~ CH,OH ~—xkgro0./H80, 5 R~ COQH
R - CHOH R-C =0
llQ — K,Cr,0./H,50, I(Q
R - CHOH R-C =0 + H,
ll? ~— Cuf573k _y ItQ

(3)

(4)

R-CH,OH -~xgcro/mso, ., R-CHO

37 P.T.O.
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85. Which of the following is correct for the iateral overlap ?

86.

(1)
(2}
(3)
(4)

s with s or p_-orbitals gives ¢-bond

s with p_—orbital. gives o-bond

P, with p orap, with s-orbital gives n—bond
None of the above

N A I G FEF F qY INd g ¥ fu w@ @ 2

{1)
(2)
(3)
(4)

Th s F TR -390 p FAF & TG o -FTS T T
Th s F p -F&F F Y o -F0E TN 3
TH p, F p, A p, F s-F&TF & WY 740 T

T 9 Hid ot T

Which of the following is true for bond-order ?

(1)

{2)
(3)

{4)

Bond order = 4 (N, = N)) : N, & N, are number of bonding &

antibonding electorns
He, =1
He," = 1

He, = %

AUE— IR ¥ fau = W W @ ?

(1)

(2)
(3)

{4)

ME—IR = 15 (N, - N, : N, 3R N, T qa1 TAifen—zaiam
M ¥
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87. The strength of halogen-substituted acids is in the order :

ST ghremd®t ufge i diad =1 0 39 TER 2

88.

89.

(1)
(2)
(3)
(4)

FCH,COOH > CICH,COOH > BrCH,COOH > ICH,COOH

CICH,COOH > BrCH,COOH > ICH,COOH > FCH,COOH -

BrCH,COOH > ICH,COOH > FCH,COCH > CICH,COOH
ICH,COOH > FCH,COOH > CICH,COOH > BrCH,COOH

Which of the following forms of tartaric acid is not optically active ?

(1),

(2)
(3)

(4)

Dextro-variety
Laevo-variety
Meso-form

Dextro-and laevo-both forms

N ¥ Tfie e 9 9 b e gau-afpg g dat 2 2

(1)
(2)
(3)
(4)

S fre
wa—The
50— e

JE T ey

Which of the following is incorrect ?

(1)
(2)
(3)
(4)

Alkali metals decompose water with the liberation of H,
Atomic volume increases from Li to K
Basic character increases from Li to K

N, P, & Cl give basic oxides

39
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90.

91.

THARTWAATE ?

(1)
(2)
(3)
{4

ﬁﬁﬁﬁﬁﬁﬁ&ﬁéﬁnﬁwmm%w%ﬁuﬁm%
Li § K 9% TOH— AR a9 8

Li § K 9 Sfas® 7o aea §

N, P, & Cl 3% siauEe 91 &

Which of the following is correct for the aqueous solution of salts ?

(1)
(2)
(3)

(4)

Sodium carbonate acidic
Potassium carbonate alkaline
Potassium carbonate neutral
Ferric chlorides amphoteric

A9 f&d g ek # v T S F A B W el g 2

(1)
(2)
(3)
(4)

Hifgam wrafe ufafes
W Fee g
ey e EFRIES
Tt FANEE IqgYfifs

A reaction is : BaCl, + H,SO, = BaSO, + 2HCI. For a given concentra-

tion of H,S0, & the maximum concentration of BaCl,, which of the

following will be true for keeping BaSO . In solution ?

40
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93.

120/115/23

W SRR : BaCl, + H,SO, = BaSO, + 2HCI ? | H,SO, % UF W Wit
% wfa $1 @ Afik A AfUF BaCl, F TR F I BaSO, H HA
@ g fore SR fan e P |/ S ?

(1) Ksp {(BaSQ,} < {Ba”}[S0,?
(2) Ksp > [Ba*?|[SO,?|

(3) Ksp < [Ba?j[SO,?]
(4} Ksp = [Ba'3)|SO,?]

Aluminium is extracted from alumina :

(1) By electrolytic method (2) In a blast furnace

{3) In reverbatory furnace (4) By Chambers method
wepf B i grged Q@ wepitry P s @ 2

(1) IoEefates fafu/sfma o (2) AR W |

(3) Raw@dd 1t @) = fafu afra |

Which of the following is correct for chloroquine ?

(1) Antiallergic (2} Antibiotic

(3) Antimalarial - (4) Antipyretics
T A B W RRGE F 9 2 ?

(1} UEneRfSE (2) UEEic®
3) Wneiad (4) URRIEH

41 ' P.T.O.



12U/115/23

94. Which of the following is incorrect match for the functional group
and its name ?

Functional group Name

{1}y R-CHO Aldehydic group

O

(2) I Ketonic group

R-C-
O

3 B Carboxyl group

-C-0OH

(4) None of the above
T ¥ B O RRaeE—aqg R 3% T A e ¥ T R 2

I B v | Ll
{1} R-CHO sedtenEs 9
g .
2) I FAFrE 0
R-C-
- 0
@ rafsifee 79
-C-OH
(4) T FE o

42
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96.

97.

12U0/115/23

Which of the following is incorrect ?

(1) Teflon & Nylon are the synthetic fibres
(2) Nylon is made of polyamides

(3) Co (Ill} is present in vitamin B,

(4) Co (11} is present in vitamin D

TR A I R ?

(1) 7t siv T e wEar 8
(2) R wetumgs A & @

(3) Coqmfafm B, ¥R

(4) Co (i) forfir DH ®

Which of the following shows decrease in basic character ?

T A F q S O w1 v e € ?

(1) NH, > CHNH, > (C,HJ, NH > (CH), N
(2) CHNH, > (CH,), NH > (CHy, N> NH,
(3) (C,H), NH > (CH), N> NH, > C,H,NH,
(4) (C,Hy, N> NH, > CHNNH, > (C;H,), NH

Assertion, A: Presence of Ba?, Sr%, and Ca? must be tested in the
same order.

Reasoning, R: Otherwise, testing for Sr** first may be mistaken for
the precipitates of BaSO, or SrSO, Similarly, testing for Ca? first
may be mistaken for the precipitates of oxalates of Ba?*, Sr%, or Ca?' .

(1) Aand R both are correct and R is the correct explanation of A.

(2) A and R both are correct but R is not the correct explanation of
A.

{3) A is incorrect while R is true.
(4) Alis true but R is false.

43 P.T.O.
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Assertion, (ST JA: Ba?, Sr2* 3R Ca2* @} dioeht 38 %9 ¥ Sirg T
B

Reasoning, (®RUT) R: af& Sr* &1 & Tedt fova 741 G BaSO, A Srs0,
¥ HANY B T T Thel 21 TH TR Ca?* T TEA 7 T A Ba2, Sr2°
I Ca? F RN &F 3FYY F 9 B THA B

(1) A3 R diw ¥ otk A F fou R I BRUT
2) A 3R REF &% T &k A F fau R S wRU T
(3) A T ¢ st R W R

4 ATSRfFgRES®

98. Which of the following is correct ?
(1) H-bonding is present in H,0O as well as in H,S

(2) Atomic volume increases from La to Lu {inner transition ele-

ments)
(3) Lanthanide contraction is seen from La to Lu

(4} Basic character increases from La to Lu
T A B G ER R ?

(1) H,0 3K H,s ¥ H-d9 & ?

(2) La ¥ Lu 7% TCHIV—3T0H =gl ©

{3) La ¥ Lu ¥ oFurigs faged urn s 2
(4) La @ Lu 7% Ifes 07 s @

44
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99, Which of the following is incorrect ?
(1) Depression in freezing point is one of the coliigative properties.
{2) Frenkel and Schottky describe the defects in solids
(3) Osmotic pressure is not a colligative property

(4) Elevation in beiling point is one of the colligative properties

T A B @ T @ 2

(1) feuiss ¥ finrae et &1 SR o B

(2) BHa o vies 39 i FA @ €

(3) siifeh—ame e srvpaed o e 2

(4) e defee ¥ SO B F FUEE T B

100. Which of the following has dipole moment ?

T B frad Srda 5w 9 R ?
(1) H,0 &/T91 CCl, (2) H,0 &/a91 CO,
(3) H,0 4) ccl,

45 P.T.O.
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SECTION - 111
gvs ~ II1
BIOLOGY
(Marks — 150}

101. An individual water molecule shows :
{1) Solvency {2) Polarity
(3) hydrogen-bonding capacity {4} All the above

TR el 1 V] Sefe e €
(1} Taamgs o1 (2) g4
(3) TEERH ¥ Pl (4) 39w TR

102.Alleles are ;
(1) different molecular forms of a chromosome
{2) different molecular forms of a gene
{3) sélf-fertilizing true-breeding homozygote
(4) None of the above

weltew (fasedi) & :

(1) 7oA & fafvm snfvas w9
(2) W % fafim onfoas v

(3) wW@iHE= & G TEGASt
(4) 39YE T A P Al
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103.DNA replicates during :

(1)

Gi phase (2) Gg phase (3] M phase (4) S phase

(1)

G 3EE (2) Go¥EE  (3) M EWA (4) S 3y

104.A mycorrhizae is a :

(1)
(2)
(3)
(4)

fungus-plant root association
parasitic mold
fungal disease of root

fungus parasitic on fungus

W'{a%:

(1)
(3)

FIF—URY T HIM (2) T BT

g H FAH—IM (4) FIF W F9& G

105.Viruses are considered as non-living because :

(1)
(2)
(3)
{4)

They do not move
They do not reproduce independently
They do not mutate

Their nucleic acid does not code for protein
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fay et & w9 3 famR o I €, |66 -
(1) =R =

) 3 W & Y I T F T

(3) A Swftafda & a9 ¥

(4) I YfFAFw oA MeH F faw Fe & W

106.Crossing over most commonly occurs during :
(1) Prophasel (2) Anaphase |
(3) Prophase Il (4) Telophase Il

YIGHYOT W4 Y €9 9 U S @
(1) qaEe] (2) YYEIEEA]
(3) gafa=nil (4) ST 1]

107.In which of the following taxa does photosynthesis not take place ?

(1) Sporozoa (2} Rhodophyta

{3) Euglenophyta (4) Pyrrophyta

frefafas frg aris ¥ weHoEveer T8 & 8 ?

(1) IO g (2) S (T )
(3)  THAAIBE (4) wEwge (d— damwer)
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108.Bacteria reproduce by :

(1) Meiosis (2) Prokaryotic fission
{3} Longitudinal fission {4} Mitosis

Sfar] s fREd gR B @ 2

(1) g fawew (2) RS fager
(3) Iferd fage 4) wmEh A

109.Parasitic fungi have specialized hyphae as :

{1} soredia (2) ascogonia (3) conidia (4) haustoria

el e & ary fal Fuw g T
(1} Gdfea (2) TSR (3) HAled (4) TR

110.A decomposer is most likely utilize the following mode of nutrition :
(1} Parasitic (2} Saprophytic
{3) Ingeétion (4) All of the above

ITEE 1 N0 HTI 7 fafy Tl ot wEm B 2
(1) et (2) gawsE  (3) safgw (4) I9GF gl

111.1In order to enter the conducting system in plants, water and minerals

must pass through :
(1) The casperian strip (2} The apoplast
(3) The xylem vessel (4) The endodermal cell
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ey & et § Wi e HeE dA A T ST A @E FA €
(1) FEAR—H (2) WIrETE
(3) % alfew (4) STl &I i

112.Chloroplasts can prepare sugar in the dark in presence of :
(1} oxygen (2) Presplit oxygen
(3) ATP and NADPH (4) ADP and NADP

R ¥ wfcess vdo o i e S sRefi TR awa ©
(1) SMeRdisA (2 vE famfved sredsH

(3) ATP 3R NADPH {4) ADP 3R NADP

113. Root hairs are found in the zone of ;

(1) Maturation (2) Elongation (3} Cell division {4) Root cap

q\aﬂqﬁwﬁaﬁmﬁa%:
(1) ufitwgaq (2) < (3) e fausA (4) TR

114.Water evaporation from leaf of plant is known as :
(1) Translocation (2) Transpiration

(3) Guttation (4) Dehydration
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R ) G Y T FT T FHB A @
(1) ST (2) amdcgeR  (3)  fewgameon (4) Trstefiaon

115.The stage of photosynthesis that actually produces sugar is :
{1) The Calvin cycle {2) Photosystem |

{3} Photosystem i {4} The hight reaction
TH GYU F oE e S AR faE B9 Y v 5 Frefop o @
(1) <Hfeam =8 (2) dUR dF |
(3) =k & 1 (@) iR Sl
116.The final écceptor of electron during the non—cyclic etectron pathway
is:
(1) PSI (2) ATP (3) PSII (4) NADP
3afRg T A & waY N A< Soiae T8 S 9l ©
(1) deFi (2) wd (3) Il (4) TICER

117.The part of the flower that contains ovule is known as :

(1} Carpel {2} Stamen (3) Sepal (4) Petal

Yo7 1 I8 YW N SIS YR HAl ], FRT el B
(1) ey (2) YHW (3) TEREES  (4) T
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118.The seed coat is formed from the part of the flower known as :
(1] Integuments {2) Endosperm
(3) Sepal _ {4} Ovary

e =et &1 i g % o 9w a2, e W ©
(1) < TeAERY (2) YU (3) TEEATYH  (4) UENH

119.Phytochrome is a :
(1) Plant pigment
(2) Present as P during the day
(3) Activates regulatory proteions
(4) All the above- |

tFEE\EﬁTq%: _
(1) e auim () % drm pr F w U A
@) i R S fFave s (4) 3w

120.Abscisston occurs during :

(1) Senescence {2) Dormancy
{3) Seed germination (4) Fertilization
forelTT 18 S 1 T R

(1) SHoTerer (2) WHEEEW  (3) 9 g (4) R
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121.A fruit is most commonly :
(1) A ripened ovary {2) An enlarged ovary
(3) An enlarged aggregate of flowers

(4) a mature female gametophyte

m:w@m%:
(1) wRysa vewE C(2) TR ATEEE
(3) YA 1 e (4) WIS AT FHIHE

122.The growth of plant depends on :

(1) Cell division {2) Hormones
(3} Cell enlargements (4} All of the avove
ey #1 gfy fl s @

(1) S fawsm (2) Sara(aml) (3) Hfve fgadq (4) STdw adt

123.The first molecular product of CO9 fixation in C4 photosynthesis is :

(1) Oxaloacetate (2) Crassulacean acid

(3} Malic acid (4} Phosphoenolpyruvate
Cq THTETAN B CO, F 9o nfvas Rerdaor e @ -

(1) ST (2) ST o7

(3) e (4) FEHEAAIEEAE
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124.Viruses parasitizing bacteria are known as :

(1) Bacteria-Virus (2) Retrovirus

(3) Plasmids (4) Bacteriophage

Saropsht argeE S e 2

(1) Siam—faem] & &9 § (2) JIATH F &9 H

(3) NS % ® H (4) SHEmSt & w7 Y
125.The crop Brassica nigra belongs to the family :

{1} Tiliaceae (2) Poaceac

(3} Anacardiaceae (4} DBrassicaceace

HGFT 5 A fhd o1 @ HratEE w2
(1) e (2) e (3) TERETE (3

126.Animals adapted for digging and living in burrows are called :

(1} Arboreal (2} Cursorial (3} Fossorial (4) Scansorial

TEE W TR SEY @ Ul Tad) B hwd © ¢
(1) oEifEs (2) wFERIA (3) HERIS (4} ERIREe

127.The stage between two molts during the larval developmental period
of insects is ;

(1} Instar {2} Nymph {3) Tadpolc {4) Tornaria
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FAF AR FFE R AU FNAA T I IR F W RN FAQAE

(1) TH 2) v (3) =9 (4) <G
128.Which one of the following organs steres glycogen ?

(1) Heart (2} Pancreas (3) Liver {4) Spleen

et o Q Rl T i ¥ TR udld e R 2

(1) =3 @) ¥waw (3 R (FM) @4) faei

129.Hypostome is found in :
(1) Amoeba (2) Earthworm (3) Hydra (4) Snail

TR U W @
(1) orfer & 2) FgAHF (3 eRYH (4) & H

130.Parasitic roundworms belong to :

(1) Copepoda (2} Isopoda (3) Nematoda  (4) Trematoda

Weie 2R s grifua & |
(1) AT (2) mENEd @) eI (4) RS R/

131.Which one of the following insects is extensively used for genetic

studies ?
(1) Damsel fly (2) Fruit fly
(3) House fly (4) Tsetse fly
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frefafea § ¥ 39 & F12 52 Yo W dwrpa Stege ¥ A Y 90§ 2
(1) wer waE (Suae wed) (2) e HEREl
(3) e W (4) e T

132.The word “coronary” is associated with :

{1} Brain {2) Heart {3) Lung {4) Spleen

(1) fom 3 2) =TI  (3) ¥ (4) et @

133.Haemoglobin, a respiratory pigment is found in :

(1) Erythrocyte (2) Leucocyte
(3) Lymphocyte {4) Monocyte
fadraifed, T 419 9Ui ©, T 9@ R
() Rz ¥ @) TIHEREe W
3) feveraRe § @) TAEE o
134.Plasmid is a molecule of :
(1] DNA (2) Glycogen (3) Protein (4} RNA
S TE 3] @

() SWEUFH () TIERNAHF (3) TEH @ @) IWTAT H
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135.Elastic cartilage is found in :

(1} Ear {(2) Eye (3) Tongue (4) Skin
B TR I o 2 |
() &4 H @ o @) SH @) =

136.Which one of the following disease is caused by a protozoan parasite?

(1) Ascariasis (2) Amoebiasis
(3) Filariases (4) Tuberculosis
SersiEn geie & SR fret F § F9 uw @ 3 g
(1) TEEfEfeE @ ety
3) T @) TR

137.How many energy rich phosphoryl groups are present in ATP ?

{1} One {(2) No (3) Three {4} Four
foFg WeR F Fot—qofl wieeRee wug wdrd & foaemm 89 2
(H T @ @ @ W @ W

138.Which one of the following is a sex-linked disease ?
(1) Cholera (2) Filaria

(3) Haemophilia (4) Malaria
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frofafas ¥ @ w e Q@ wafae faad @ 2
(1) eI @) wEE @) SfoRwEE

139.The formation of a new species is known as :

(1) Hybridization (2) Selection
(3) Speciation (4} Variation
= e F Freior 9 e w9 W S e R

(1) G @) <& (3) HEAIETl

140.TCA cycle was discovered by :

(1) Darwin (2) Krebs (3} Mendel
& @ T am w a Red R ol 4
) 2 Q) s @3) Hed

141.When exposed to very high temperature, the enzyme is :

{1) Decomposed (2) Degraded

{3) Dehydrated (4) Denatured

wa@mw%mﬁmé,amﬁ :

@) TWMISAIMATNE @ wadwmomd
@) Frifea g @ FTradai
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142.The gas exchange units of lungs are called :

(1) Allele (2} Alveoli (3) Allosome (4) Ampullae

FES F 1Y ARE-YTA FH I THE F F I 2
1 I\ @ v @) weEm (4) TEE

143.Spending winter in dormant condition is known as :

{1} Aestivation {2) Acclimatization
(3} Hibernation (4) Neurulation
fafsra gem o G o w4 & &9 ¥ 5 @
1) g () TR
() vhafws 4) e

144.The poison gland of snake is a modified :
(1) Endocrine gland (2) Lachrymal gland
(3) Salivary gland (4) Sebaceous gland

Ti9 &1 Tex-dfa = @nfie w9 @
(1) e - i @) 39 - i
¢) W - T4 @ Tamg ~ A4ig

145.Which one of the {following animals has the power of regeneration ?

(1} Ascaris . (2} Cockroach (3) Planaria (4) Leech
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e § 4 F oy e w1 ufE i ® 2
(1) THRE @ femem @) R 4) <

146.The animal which is facing extinction in India is :
(1) Cheetah (2) Hippopotamus

(3) Lion (4) Wolf

% vy Ford uRa o fol 819 1 W R U8 W R
(1) @ eREEWE 3) W @) afem

147.Which one of the following is called “blood bank” of human body ?
(1) Heart (2) Liver (3) Pancreas {4} Spleen
frefafe ¥ 9 $N wFa R TR ¥ €9 F 9 9@ 7 2
(1) ®F @ R 3) Uram 4y el

148.Antibodies produced in response to antigens are :
(1) Carbohydrates (2) Proteins
{(3) Lipids (4) Vitamins
e % e B Saiea tfesie §
() SdEEgE (2 WA @) fafrsg @) Taaf

60



12G/115/23

149.Genetically engineered bacterium, E. coli produces a hormone known

as:
{1) Humulin (2) Inhibin

{3) Oxytocin (4) Somatotropin
sngeiferes f4ffa sfar, s—@ier, g Iare ¥ w9 S S @
(1) TR () et

(@) SR (@ wHdE

150.Which one of the following statements regarding chromosome of male
(XY) is wrong ?
(1) X’ contains more genes than “Y’
(2) Y’ is responsible for maleness
(3) Haemophilia is a sex-linked disease associated with ‘X’

(4) Y’ compensates for defectives genes in ‘x’

769 & FAEW (XY} R ¥ Feffes s Y w sE Tom ©
O X, YR s i s

Q) A % fau vy fder @

6) X Y=g watyd i dofefom | g @ @

@ Y wE ST % o sfogfd s R
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